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Vehicle A - Stock Ranger
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Polaris Ranger 900 XP Vehicle B - Mod 6
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Vehicle B - Modified Ranger
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Vehicle A - Stock Ranger Vehicle 'B Modlfled Ranger
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Vehicle A - Stock Ranger  Vehicle B - Modified Ranger
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Vehicle J-Tum (Peak Lat Accel) Tilt Table (2-Passenger)
Number LHTurn | RHTurn | Average Max LH Tilt RH Tilt Awerage Tilt
(G) (G) Lat Accel (G) |Angle (Deg) Angle (deg)| Angle (deg)
1 0.648 0.628 0.638 35.1 35.0 35.1
2 0.662 0.626 0.644 35.4 35.1 35.3
3 0.704 0.602 0.653 34.7 34.0 34.4
4 0.711 0.651 0.681 36.6 35.3 36.0
5 0.716 0.684 0.700 36.4 35.3 35.9
6 0.723 0.683 0.703 35.9 36.9 36.4
7 0.726 0.689 0.708 36.2 36.6 36.4
8 0.774 0.663 0.719 36.5 36.5 36.5
9 0.703 0.740 0.721 38.4 37.6 38.0
10 0.816 0.723 0.770 37.6 38.6 38.1
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